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|dentifying Multiples Name:
Use'Yes or 'no' to answer each question. Answers
1) Is9amultiple of 2?
1
2) Is54 amultiple of 6?
2.
3) I1s69 amultiple of 3?
3
4) 1s50 amultiple of 5?
4.
5) Is25amultiple of 2?
5.
6) Is28 amultiple of 2?
6.
7) 1s99 amultiple of 4?
7.
8) 1s66 amultiple of 67
8.
9) Is42 amultiple of 7?
9.
10) Is30 amultiple of 5?
10.
11) Is28 amultiple of 67
11.
12) Is54 amultiple of 2?
12.
13) Is17 amultiple of 2?
13.
14) s 81 amultiple of 2?
14.
15) 1s64 amultiple of 9?
15.
16) I1s12 amultiple of 6?
16.
17) Is45 amultiple of 9?
17.
18) Is14 amultiple of 7?
18.
19) Is61 amultiple of 7?
19.
20) 1s40 amultiple of 9?
20.
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|dentifying Multiples Name: Answer Key
Use'Yes or 'no' to answer each question. Answers
1) Is9amultiple of 2?
1. no
2) Is54 amultiple of 6?
2 YES
3) I1s69 amultiple of 3?
3. YES
4) 1s50 amultiple of 5?
4. yes
5) Is25amultiple of 2?
5. no
6) Is28 amultiple of 2?
6. YES
7) 1s99 amultiple of 4?
7. no
8) 1s66 amultiple of 6?
8. YES
9) Is42 amultiple of 7?
) YES
10) Is30 amultiple of 5?
10. YES
11) Is28 amultiple of 67
11. no
12) Is54 amultiple of 2?
12. YES
13) Is17 amultiple of 2?
13. no
14) s 81 amultiple of 2?
14. no
15) 1s64 amultiple of 9?
15. no
16) I1s12 amultiple of 6?
16. YES
17) Is45 amultiple of 9?
17. YES
18) Is14 amultiple of 7?
18. YES
19) Is61 amultiple of 7?
19. no
20) 1s40 amultiple of 9?
20. no
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